
math4u.vsb.cz

RATIONAL EQUATIONS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

You don’t have to be responsible for the world that you’re in.
John von Neumann, the author of the concept of modern computers.

Match each of the given equations with the interval containing all the roots of the equation.
Equations:
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Intervals:

A (−30;−20)(−4; 0) ∪ (15; 25](−∞;−30) ∪ (3; 5)(−20; 0](−1; 6)(1; 7]

B (−30;−20)(−4; 0) ∪ (15; 25](−∞;−30) ∪ (3; 5)(−20; 0](−1; 6)(1; 7]

C (−30;−20)(−4; 0) ∪ (15; 25](−∞;−30) ∪ (3; 5)(−20; 0](−1; 6)(1; 7]

D (−30;−20)(−4; 0) ∪ (15; 25](−∞;−30) ∪ (3; 5)(−20; 0](−1; 6)(1; 7]

E (−30;−20)(−4; 0) ∪ (15; 25](−∞;−30) ∪ (3; 5)(−20; 0](−1; 6)(1; 7]

F (−30;−20)(−4; 0) ∪ (15; 25](−∞;−30) ∪ (3; 5)(−20; 0](−1; 6)(1; 7]



Good job, buddy!That was excellent!Wait! Sheldon might get jealous!You are the champion!Great, you are very good at this!A small step remains,
next time will be glorious!

It almost couldn’t have been better.
Almost.

You made some mistakes,
but you still deserve praise.

That’s like when you end up second in a
competition when you could have won it.

You’re almost rocking.It is not bad, but it could be better.Not great, not terrible.
You are somewhere in the middle.

To be average, or not to be average?
That is the question.

You can do better! You have to work
harder!

Wasn’t the worst, but next time eat a
piece of chocolate and it will definitely

be better.

You made it,
but there’s still room for improvement.

Could be worse!Just a little better and you will be
average.

You made a lot of mistakes.
You aren’t good at this yet.

Ehm, you aren’t Jesus walking on water.
Get back on the ground!

This is like a foreign movie to you;
you still need subtitles.

What a calamity!Next time don’t multiply your knowledge
by zero.

There was a time
Einstein couldn’t count to 10 either.

For this test - the goose is in the oven!
Try another test.




